MULTI TRAILER 3 PLUG BRACKET
OEM TOWBAR

TLR714802

SUITED TC:

ISUZU MUX RJ SERIES



PRE-INSTALLATION

Read through Fitting time

— this installation is approx. 30
~ - | guide before minutes.

proceeding.
FITTING KIT
QUANTITY  PART
1 TLR714802
1 TLR710010 Camera Plug Bracket
1 TLR710008 Adapter Plate
6 M4 x 20 mm SS Pan Phillips Head
2 M4 x 10 mm SS Pan Phillips Head
8 M4 SS Nyloc Nut
1 M8 x 20 mm Button Head Socket
1 M8 SS Nyloc Nut
1 M8 x 20 mm Flat Washer
1 Tie Cable 150 mm
NOTE:

Basic spanner
and socket set,
Phillips head
screwdriver.

This TLR Products bracket allows for mounting 7/12 pin, 2 x
Anderson plugs, 1 x camera outlet, airbags, trailer break away.

We recommend doing all the wiring before mounting bracket to

the vehicle.



FITTING INSTRUCTIONS

Decide which plugs/ fitting's you
are fitting and orientation of the
accessories. We recommend pre-
wiring all plugs and fittings
before installation.

If you are fitting a rear-view
camera plug, use

additional mounting bracket
supplied, in the case you are
fitting a “Safety Dave Style”
camera plug, you will need to
use the supplied adapter plate
for installation, refer to photo 1.
Using supplied M4 hardware,
mount additional

accessory plugs to the TLR
Product Bracket.

Remove the OEM 7/12pin trailer
plug from the OEM towbar
location.

Loosely fit TLR Products Trailer
Plug Bracket to towbar tag “as O O
per photo 2 using M8 hardware b,

supplied. 1
NOTE: we have noticed slight
variation, may need to clearance
hole.

Fit mounting bracket and 7/12pin
trailer plug to the OEM trailer
plug location as per photo 3
Tighten M8 mounting bolt in
location and ensure all

other fixings are secure.

PHOTO1

PHOTO 3




ooo
]DEIEI

T

~J1_-

TLR Products
65 Northville Drive
Barnsley NSW 2278

hello@tlrproducts.com.au
www.tlrpoducts.com.au

instagram.com/tlrproducts
facebook.com/tlrproducts



	Slide 1
	Slide 2
	Slide 3
	Slide 4

